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. Suppose that your roommate is very messy (there is no law against being messy).

Assume he gets a $200 benefit from being messy but imposes a $100 cost on you.
The Coase Theorem would suggest an efficient solution where

. you pay him at least $100 but no more than $200 to clean up after himsell.
. vou pay your roommate at feast $201 1o clean up after himself.

. you continue to live with your messy roommate until you are able to make other

living arrangements elsewhere,
your roommate pays you at least $100 to have you clean up after hini.

. Internalizing a positive consumption externality will cause a{n) in the

quantity supplied to the market and a(n) i the price of the good.

. decrease, decrease b. increase, increase

. decrease, increase d. increase, decrease

. Suppose that the world price of wine is $750 and Taiwan is a price-taker in the

wine market. Also assume Taiwan imposes a $300 tariff on wine. As aresult of

the tariff, Taiwan’s wine price will be and the quantity of wine consumed

will

. $750, decrease b. $1,050, decrease

. $750, increase d. $1,050, increase

. If Gary sells a shirt for $400, and his producer surplus from the sale is $230, his
cost must have been )

. 630. b. 400.

. 230 d. 170

.If a tax is imposed on a market with elastic demand and inelastic supply
. buyers will bear most of the burden of the tax.

. seller will bear most of the burden of the tax.

. The burden of the tax will be shared equally between buyers and sellers.

It is impossible to determine how the burden of the tax will be shared.

. When a good is excludable but not rival the good is most likely to be
. provided by a natural monopoly.  b. a private good.
. a public good. d. a common resource.
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7. If there is a binding price ceiling in the market,

a. all buyers of the product will benefit from a lower price.

b. all buyers of the product will suffer from a higher price.

c. some buyers will not be able to purchase the product al all.
d. some sellers will not be able to sell their product.

8. Because the demand for wheat tends to be inelastic, the development of a new,
mare productive hybrid would tend to

a. increase the total revenue of wheat farmers.

b. decrease the tolal revenue of wheat farmers.

c. weaken the demand for wheat.

d. weaken the supply of wheat.

9, Which of the following would result it an increase in equilibrium price and an
ambiguous change in equilibrium quantity?

a. an increase in supply and demand.

b. an increase in supply and a decrease in demand.

c. a decrease in supply and demand.

d. a decrease in supply and an increase in demand.

{0. An increase in the price of oranges would

a. lead to an increased supply of oranges.

b. lead to a movement up the supply curve for oranges.

c. lead to an increased demand for oranges.

d. lead to a reduction in the prices of inputs used in oranges production,

11. Absolute advantage is found by

a. comparing relative opportunity coss.

b. calculating the total cost of production. _
¢. comparing productivity of one nation to that of another.

d. none of the above.

12. Which of the following is an example of a normative statement?

a. Reducing tax rates on the wealthy would be good {or the economy.

b. If the price of product decreases, quantity demanded increases.

¢. If the national saving rate were to increase, so would the rate of economic growth.

d. None of the above.
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13. Taxation resulls in deadweight losses because taxes
a. affect the decisions people make.

b. distort market incentives.

c. result in lower levels of total welfare.

d. aif of the above.

14. Because sunk costs are not opportunity costs, they

be considered when

determining profit and be considered when predicting a firm’s behavior.
a. should, should b. should not, should not
¢. should, should not d. should not, should

15, If a perfectly competitive firm receives $500 in (otal revenue and has a marginal

revenue of $10, what is the average revenue, and how many units were sold?

a. $10 and 50 b. $10 and 100

c. $5 and 100 d. cannot be determined.

[6. When a new firm decides to enter a perfectly compelitive market,

a. the market supply curve shifts right.
b. the market supply decreases.
c. the market supply does not change.

d. cost of all remaining firms in the market must rise.

17. A natural monopolist’s ability to price its product is
a. constrained by market supply.

b. enhanced by regulatory conirol of the governmend.

c. constrained by the market curve,

d. not affected by market demand,

18. When regulating a monopoly, one of the problems with selting price equal to

average cost is that
a. consumer surphus is not maximized.

b. total social welfare is not optimized.

c. there is no incentive for the monopolist to lower ifs costs.

d. All of the above,

19. The demand for a product is dependent on

a. its price. b. consumer income.

¢. consumer taste. d. all of the above, -
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20. If oligopolists are prevented from colluding, total revenue for all firms in an

oligopolistic market is that of a monopolist.
a. preater than or equal to b. less than
¢. less than or equal to d. equal to

21. As some incumbent firms exit a monopolistically competitive market, profits of

existing firms. and product diversity in the market
a. decline, decreases b. rise, increases
c. rise, decreases d. decline, increases

22. A profit maximizing employer will always hire up 1o the point where
a. marginal product is just starting to decline.

b. marginal product of labor is just starting (o rise.

c. value of marginal product is just equal to market wage,

d. marginal value exceeds marginal cost.

23. Because of the free rider problem

a. public transportation tends to be unprofitable.

b. private firms generally find it unprofitable to produce public goods.
c. private firms are encouraged to ignore the external costs they creale.
d. products yielding external benefits tend to be overproﬁuced.

24. When workers are able to argument their stock of human capital, they can expect
a. to decrease the value of their marginal product of labor.

b. to increase the final product price. :

c. to receive higher wages that reflect an increase in their value of mﬁrginal product.
d. none of the above.

25. An economic outcome is said to be efficient if

a. the economy is getting all it can from the scarce resources it has available.

b. the economy is using all of the resources it has available.

c. the economy is conserving on resources, using as few as possible.

d. the economy is producing only the goods and services consumers need the most.
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[. What is meant by “the tragedy of the commons”? How is this
concept related to environmental issues? Please comment on
(criticize) this concept. (KA 15 4+ % EAIFAE 250 % »
F A4 )

2. For environmental protection, there are so called 3R’s, and one
of them is Recycling. What arc the other two R’s? (Just name
them) (A% 4 5)
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1. Learning Organization

2. Management Paradigm

3 Intrapreneurship

4.ERP

5.Decision Trees

6.Theory Z

7 Managerial Grid

8 Knowledge Management
2TOM

10.Electronic Commerce

B E RS S EEMCIh RS ;S -5 S
MAAFEREE » Z8H5)
1.Henry Gantit
2.W. Edwards Deming .

3. Abraham Maslow
4.Chester 1. Barnard
5. Douglas McGregor
6. Henri Fayol

7. Max Weber

8. Fred W. Taylor

9. Frank B. Gilbreth
10. Michael E. Portor
11.Peter F. Drucker
12. Fred E. Fiedler
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T = 2P A (59%)
L+ 3% fiskf (decision-making) $tak $#1% (policy-making) Z#F « (1)
2 W B S AR AR A R Ak T R K2 MR ()
3o R R R G R 2B R R (3
A E WL BRI - | |

A =20 (So)

18 8 53090 2 BB T (policy model) 0 86 48 7 3540 & AR
¥ IR REHR 7 (20%)

QATUT 43 BARFIMA (15%)
(a) Public-private partnership
(b) Cost-effectiveness analysis
(c) Policy stakeholder

3HE AR HAROEBUR(5%)
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b A 4EFREFER (public budget process)
2. MERFER (internal audit)

3. WATETAE (financial engineering )

4. EFHEE (arbitrage opportunity )

5. EriElAYy

Z AR TEE R R Y BOA R B TR E R T SR MRS - EE e
New Marks @ittt/ FRER - DIRERR AN - FERGPUERR - Bl -
PR ~ BE—RH - SeR R AR R RIS /BT R - (267

L I EER B - (6 )

2. BESH > BUNTHR YU RAGH Fo2 Rignt RES Y] 2/ FRERA M

safe] 7 SEREB R AR R B IR 2(7 76)

3. HFALER  FERED LAEEEEIES GNP 2 6% - HSHEER
BRI GHE - (Lol )

4. BRBURF R EREL | UK 5,841 (370 » & FIEETEERE 4.7% o 35
E RN SRS R - ( 690 )

= TR AT BUGE R SO — AR SO ISR AL
REEA > TR LRI KU R4 SR 4 T » FEIU4ERY
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0 REETR S TRMEBAEL > (BRI E ALK ERAS » Bk
B - RAUVKEUKE - BEEERTE - (28)
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L BUROHERE

%2 RARRTRAEN I\(9))

2. (R =FNFIEOKE TR M BHERT 1,000 BAM  SFNE—XK

ARFArPRBUNTERTHE B R THE - BB LI - MEES

WHEFE 8% » SE—RBIW > BRI - HEAFER ~=(u—% )

(L) #RIR— © BT R ATFFIE 6%

(2.) P ¢ BTHATHS 8%

(3.) $RIE=  BITEAFRIE 10%

1 F-T ERERE R AR
n =6% i=8% i=10%

R | ESEE| | EARE ESTRE| | EAIRE| SR E

1 109434 09434 | | 0.9259 | 0.9259 | | 0.9090 | 0.9090

2 | 089001 1.8334 |1 08573 ! 1.7833 | | 0.8264 | 1.7355

3 | 0.8396 | 2.6730 | { 0.7938{ 2.5771| | 0.7513 | 2.4869
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